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3. Quadratic Eﬁuai;'owL
Fou.r m&%oo\g -for SO{\!iMar %uAdL(o\,'&ic eémaifM,S: 4X2+)o)(+(_:.zo

I S%ch root '{'ﬁd’\’\{fbﬂi - OV‘-}% works whon b=o,
2. Fao‘l’c}rim% — Doesn afwaas wor k.
2, Cow&f\e;\—iw% Hee Squme - Alwaag werke - whal re«,} men Ao,

Y. Quadmtic formula -/4{w4?(5 works x- —birJlF-uac’
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G

We  have to ensure two thimng s

1) Da—vb]'* dake evert reots of \ne&‘&i\/e numbe f¥,

K) Dwomiw&or 1S wnever 1e40.

Numuﬁpr'. X+§5 20O —;—:;E?,/:S;\ AND
Devominador: §-X >0 = -x>-F '-‘—"D@

—§+£x <& ng«e: H{
Domainn . i]

2.3 Paw.dooia,s — The (’Cra—fakj O’P QV‘"‘LM’%“C E@udcim_g

s T

axtebyrC =y a(x-W t kR
Reeall: The Po‘w\i (h k) & te g{fgﬁ& O"E%LWALA&/Q,

1
=k g Hac-h
Ha



S} Fiwd 143 numl e D'F Mi‘}”g -H\[)t »\eei '}'D be
prac{\.u,ec@ wd  sold to break even ?,Ne«x e revenne
e COS'} Loanc+Hens,

Rix) = 100 X

clx)= 2xt100
Reeall: PO = RGN - Cx) . the  break  even point
¢ whm PLXY =0, So
Pl = R - c(x)
_ \ooVx - (X + 100)
Pl = X riooVx — o0 = @
x —Ssolx T 56 = O

ik dosend ook like the shandarel guecliatic g
vk b shill s ome

A
y - soug +50 = (Jx) — ok T50 =

Use the qua Aratic  Formulg T Pchaw ! X ;.?
) F$00
- o+ s 5020

(Vx - 15) = &8
Jx -28 = +y 515
Jx = 28 1S

7
x =5 1iFE) XF Lot e
X % 2344, 9



61) Crivea  He mﬁo)& wol  Aomand egu&zmg) Lol Hy
acbul!;!or}um price wnd ‘5“"”‘%’40’?'
SwPflg f f) = c}lz'-f o)
doman] . p =39 ~Go* 86
Selve 77*—{—10 = *Z’s?"‘-%? + 86

=> H?" teq % = O
~1

T 4 39 -19=0
5 +""\iﬁm/ 3\ 3
(44

(A" 37/ —~23& = O Irrecluc ue

L
3
AN

"S 2.67



2’?.) A comfwg ha g d@,‘f? )oroalue:}{m costs of

Cix) = foO —|Ox + 0,25*)(2'
How wwwa, e Froalu.{,pj each 0{4? ?Eéu a
ML MV cost ? WM e Ha  minimum tost ‘P

MIN = \/MH/?L = (h, /C)
C—h ~ b +Yac
~\l2zq ) Ha
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_Ganac | - (o)t w(4) g0

“ 4 ()



